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Limits

1. Use the graph to determine the following.
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Draw the function on the grid provided. (Use your calculator to generate the graph.) Then determine the following.
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4. On the grid below, sketch a graph of a function with the following characteristics.

i. the domain is [-2,1]
i .f(=2)=f(0)= (1) =
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Find the following limits algebraically. Show as much work as possible. (note: a®> + b® = (a + b)(a® — ab + b?))
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15. Use your graphing calcul/a’_c’or to determine the following limit.
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16. Let lim f(x) = —4 and lim g(x) = 8. Use properties of limits to determine the following.
xX—=a xX—a

a) lim /f2(x) + g%(x)

Jg@ 3
c) lim {/g ()~ {f(x) + 3]

I [443]

ety

o BRIy = @
sin(6)

Prove: lim———=
6-0 6

0,1)

; $ 7%

) lim J2=3® — =4 - MXX
x—a 5f(x)+2g(x)
5C4)+2(8)

= ‘5[“&‘//1%”,7;
~y

O+ ~

d) lim[g(x) - f()]?
[&- -]
J

b
Z

[
@) - (1,'?) ’A@% \



